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2011
HOSPITAL & HEALTH SYSTEM - II
( HISTORY & EVOLUTION )

Time Allotted : 3 Hours Full Marks : 70

The figures in the margin indicate full mariks.

Candidates are required to give their answers in their own words
as far as practicable.

GROUP - A

( Multiple Choice Type Questions )
1. Choose the correct alternatives for any ten of the following :
10x 1 =10

i) CSSM stands for

a) Child Survival & Safe Mothering

b) Child Safety & Safe Motherhood

c)  Child Survival & Safe Motherhood.
ii) RCH stands for

a) Reproduce and Child Health

b) Research and Child Health

c) Reproductive and Child Health

d) none of these.
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iii) NACO was set up in the year
a) 1992 b) 19930 =i
c) 1994 d) 1995.
iv) BCG Vaccination is given at
a) birth b) 2 weeks
c) 4 weeks d) 9 months.
v)  ORT stands for
a) Oral Rehydration Treatment
b) Oral Rehabilitative Therapy
c) both of these
d) none of these.
vi) Headquarters of UNICEF is located at
a) New York b) Geneva
¢) Rome d) New Delhi.

vii) The base level of the pyramid of health care system in

Sri Lanka covers

a) 3000 population b) 4000 population

c) 5000 population d) 6000 population.
viii) In Endemic diseases “En” stands for

a) above b) below

c) between d) within.
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ix) Resource inputs in the health manpower
a) Financial, Human and Technical i“i:; ~!
b) Financial. Infrastructural and Technical
c¢) Financial, Human and Infrastructural
d) Technical only.
x)  Pulse Polio immunization was launched in India in the
year
a) 1995 b) 1997
c) 1993 d) 1991.
xi) ELISA test is done for detection of
a) Malaria b) Filaria
c) Influenza d) HIV.
Group - B
( Short Answer Type Questions )
Write short notes on any three of the following.
3x5=15
NRHM.
DOTS.

Minimum Needs Programme.

UNICEF.

Surveillance and Monitoring.
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GROUP - C
(Long Answer Type Questions..).l—-.l. o .
Answer any three of the following. 3% 15 = 45
Elaborate the following : 8+7

a) RCH programme.

b) National Blindness Control programme.

Describe the health care system in Canada. What lesson do

we learn from the Canadian Health care reform ? 10 +5

State the process of Health System Evaluation.

Give a brief detail about the international health agencies

working in the health care field.

Describe the role of hospitals in primary health care delivery

system in India.




